
a) ( 1 9 - 1 1 ) 7 = b) ( 8 9 ) - ( 7 6 ) =

c) 7 0 - 7 ( 6 3 9 ) = d) 8 ( 1 3 - 9 ) =

e) 3 5 ( 4 5 - 4 0 ) = f) ( 7 6 - 5 8 ) 6 =

Frage:

Rechnung:

Antwort:

Wenn	ich	Anton	259	von	meinen	Murmeln	abgebe,	dann	habe	ich	noch
genau	drei	Mal	so	viele	Murmeln	wie	er.

2 5 9 3 = 7 7 7
7 7 7 + 2 5 9 = 1 0 3 6

Punkt-vor-Strich	und	Klammer

Löse	die	Aufgaben	und	achte	auf	die	Regeln!1
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a) ( 1 9 - 1 1 ) 7 = b) ( 8 9 ) - ( 7 6 ) =

c) 7 0 - 7 ( 6 3 9 ) = d) 8 ( 1 3 - 9 ) =

e) 3 5 ( 4 5 - 4 0 ) = f) ( 7 6 - 5 8 ) 6 =

Frage:

Rechnung:

Antwort:

Wenn	ich	Anton	259	von	meinen	Murmeln	abgebe,	dann	habe	ich	noch
genau	drei	Mal	so	viele	Murmeln	wie	er.

Wie	viele	Murmeln	hatte	ich	ursprünglich?

2 5 9 3 = 7 7 7
7 7 7 + 2 5 9 = 1 0 3 6

Ich	hatte	ursprünglich	1036	Murmeln.

Punkt-vor-Strich	und	Klammer

Löse	die	Aufgaben	und	achte	auf	die	Regeln!1
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